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escribe('#indexOf()', function () {

it('should return index when the value is present', function () {
var zero = 0, two = 2;
assert(this.ary.indexf)f(zero) === two0);

LW~ WN

)
it('should return -1 when the value is not present’, function ()

var minusOne = -1, two = 2;
assert.ok(this.ary.indexOf(two) === minusOne, 'THIS IS AN
ASSERTION MESSAGE");

b;

describe('String.slice()', function () {
it("extracts a section of a string and returns a new string’',
function () {
var str1 = "The morning is upon us.";

var str2 = strl .slice§4, -2);
assert(str1 === str2);

});})’ Rung Tests
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CodeMirror

passes: 0 failures: 3 duration: 0.04s

Array
#indexOf()
% should return index when the value is present

# at line: 8

assert(this.ary.index0f(zero) === two)
| I | I I
| I I | 2
| -1 0 false
[1,2,3]

[number] two

= 2

[number] this.ary.index0f(zero)

= =1

AssertionError: false == true
at Decorator.concreteAssert (http://azu.github.io/power-assert-demo/bower_compon
ents/power-assert/build/power-assert. js:1607:21)

at http://azu.github.io/power-assert-demo/bower_components/power-assert/build/po
wan._Acceand e 182024

% should return -1 when the value is not present

THIS IS AN ASSERTION MESSAGE # at line: 12

assert.ok(this.ary.indexOf(two) === minusOne, 'THIS IS AN ASSERTION MESSAGE")
| | | | |

| | | | -1
| 1 2 false
[1,2,3]

[number] minusOne

= =1

[number] this.ary.indexOf(two)

= 1

AssertionError: THIS IS AN ASSERTION MESSAGE
at Decorator.concreteAssert (http://azu.github.io/power-assert-demo/bower_compon
ents/power-assert/build/power-assert. js:1607:21)

L 100%
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C' || azu.github.io/power-assert-demo/ e
1 dets)c;ibe 'Anl:‘af', functit(al)w{() { -
2 eforeEach(function nacses 0 failures: otion: 0.04e | |
3 this.ary - [1 , 2’ 3]’ passes: 0 failures: 3 duration: 0.04s | 100% |
4 ; -
S escribe('#indexOf()", function () { _ . Array
6 it('should return index when the value is present’, function () { ,
7 var zero = 0, two = 2; #indexOf()
8 assert(this.ary.indexf)f(zero) === two); % should return index when the value is present
9 )( : . :
10 it('should return -1 when the value is not present’, function () # at line: 8
11 var minusOne = -1, two = 2; . . :
12 assert.ok(this.ary.indexOf(two) === minusOne, 'THIS IS AN assert(this.ary.index0f(zero) === two)
ASSERTION MESSAGE"); b ! .
13 }; | | |2
14 }); I -1 0 false
15 }); [1,2,3]
‘I 6 - - - .
17 describe('String.slice()', function () { _ [number] two
18 ‘ |t('¢xtr(a)cts a section of a string and returns a new string’', - 2
unction - : :
19 var str% = "The morning is upon us."; [number] this.ary.index0f(zero)
20 var str2 = str1 .slice§4, -2); = -1
21 assert(str1 === str2);
22 1; RONCTEstS AssertionError: false == true
23 }): at Decorator.concreteAssert (http://azu.github.io/power-assert-demo/bower_compon
24 ents/power-assert/build/power-assert. js:1607:21)
at http://azu.github.io/power-assert-demo/bower_components/power-assert/build/po
wan._Accand S 1820246
% should return -1 when the value is not present
THIS IS AN ASSERTION MESSAGE # at line: 12
assert.ok(this.ary.indexOf(two) === minusOne, 'THIS IS AN ASSERTION MESSAGE")
| | I (.
| | | | -1
1 2 false
[1,2,3]
[number] minusOne
= -1
A [number] this.ary.indexOf(two)
O, =1
4.
2%
OOO‘ AssertionError: THIS IS AN ASSERTION MESSAGE
”4,0 at Decorator.concreteAssert (http://azu.github.io/power-assert-demo/bower_compon
6 ents/power-assert/build/power-assert.js:1607:21)




power-assert transform

? espower-source
» https:/github.com/twada/espower-source

% Code -> (Power-asserized) Code



https://github.com/twada/espower-source

Test Runner



% : |
O 6 power-assert playground x ®

\‘\#

e
<« C' || azu.github.io/power-assert-demo/

1 describe('Array’', function () {
g be{ﬁ:’sea?}(l:h_ [linCtlon 01 passes: 0 failures: 3 duration: 0.04s ::100%:]
2 (}2 o
5 escribe('#indexOf()'", function () { Array M OC a
6 it('should return index when the value is present', function () { ,
7 var zero = 0, two = #indexOf()
8 assert(thls ary. mdexéf(zero) === two); % should retumn index when the value is present
9
0 |t( should return -1 when the value is not present’, function () # at line: 8
1 var minusOne = -1, two = 2; . .
2 assert.ok(this.ary. indexOf(two) === minusOne, 'THIS IS AN assert(this.ary.index0f(zero)
- ASSE}I§TION MESSAGE'); b
. I
4 D; R |
555 bi [1,2,3]
7 descnbe( String.slice()', function () {
8 ‘ it('extracts a section of a string and returns a new string’, E:u;ber] o
unction -
9 var s(t)r% ="The mommg is upon us.' [number] this.ary.index0f(zero)
0 var str2 = strl. sllce§4 -2); => -1
1 assert(str1 === str
2 ; AssertionError: false == true

at Decorator.concreteAssert (http://azu.github.io/power-assert-demo/bower_compon
24 ents/power-assert/build/power-assert. js:1607:21)

at http://azu.github.io/power-assert-demo/bower_components/power-assert/build/po
wan._Accand S 1820246

% should return -1 when the value is not present

THIS IS AN ASSERTION MESSAGE # at line: 12

assert.ok(this.ary.indexOf(two) === minusOne, 'THIS IS AN ASSERTION MESSAGE")
| | | | |
| | | | -1
| 1 false
[1,2,3]

[number] minusOne

= -1
P [number] this.ary.indexOf(two)
o/* => 1
o,@
OOO' AssertionError: THIS IS AN ASSERTION MESSAGE

%, at Decorator. concreteAssert (http: //azu glthub io/power-assert-demo/bower_compon



Test in iframe

% iframe’s srcdoc attribute

% embed <html>...<scriptrassert(true)</

scripty...</html>
%+ Mocha

> http://visionmedia.github.io/mocha/



http://visionmedia.github.io/mocha/

ractive. js
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&« C' || azu.github.io/power-assert-demo/

aescrioe( Array , runction

bezﬁ:'sea?}(jh: fl::l.‘ir’lczt’lo:{i’(){ passes: 0 failures: 3 duration: 0.04s 1»(7'.)07%'1

escribe('#indexOf()', function () { Array
it('should return index when the value is present’, function () { ,
var zero = 0, two = 2; #indexOf()
assert(this.ary.indexéf(zero) === two); % should retumn index when the value is present

oW~ WN

)
it("should return -1 when the value is not present’, function () # at line: 8
var minusOne = -1, two = 2; . .
assert.ok(this.ary.indexOf(two) === minusOne, 'THIS IS AN assert(this.ary.index0f(zero) === two)
ASSE}I§TION MESSAGE"); Vo ' I
; | I I I 2

b; R | false
; [1,2,3]

. A . . .
desc.rlbe( String.slice()', function () { . [number] two
¢ It( extr(a)cts a section of a strlng and returns a new strmg ’ - 2
unction - : :

var str% = "The morning is upon us."; Inoeber] £Rs.ary.index0f(zero)

var str2 = str1 .slice£4, -2); = -1

assert(str1 === str2);
}); RunfTests AssertionError: false == true

I at Decorator.concreteAssert (http://azu.github.io/power-assert-demo/bower_compon

ents/power-assert/build/power-assert. js:1607:21)

at http://azu.github.io/power-assert-demo/bower_components/power-assert/build/po
wan._Accand S 1820246

b;
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% should return -1 when the value is not present

THIS IS AN ASSERTION MESSAGE # at line: 12

assert.ok(this.ary.indexOf(two) === minusOne, 'THIS IS AN ASSERTION MESSAGE")
|

Component Manager = ractive.js...

[1,2,31

[number] minusOne

= =1

[number] this.ary.indexOf(two)
= 1

AssertionError: THIS IS AN ASSERTION MESSAGE
at Decorator.concreteAssert (http://azu.github.io/power-assert-demo/bower_compon

.
o NOWEr -0 & N d/nower-ag 2 b K51




ractive component

2 Editor as Component
2% Test Runner as Component

% Component <-> Component



ractive event

2+ Cool Observers
2+ http://docs.ractivejs.org/latest/observers



http://docs.ractivejs.org/latest/observers
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https://github.com/azu/power-assert-demo
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